
Konstruktionszeichnung
D

ie
se

 Z
ei

ch
nu

ng
 is

t E
ig

en
tu

m
 d

er
 K

na
pp

 G
m

bH

5O

10O

16
30

°40

240

30O

197,7

M1 : 2

Konstruktionszeichnung
Construction Drawing

KNAPP® -T-JOINT D30 W30
Art.- Nr. Z617

Schrauben Empfehlung:
1 St. SK-Schraube 10x240 mm (Art-Nr. Z663)
2 St. SK-Schrauben 5x40 mm (Art-Nr. Z500)

Can be screwed with:
1 pc. CS-screw 10x240 mm (Art-No. Z663)
2 pcs. CS-screws 5x40 mm (Art-No. Z500)

Material: Stahlguss
material:  cast steel

©
 K

na
pp

 G
m

bH
. A

lle
 M

aß
e 

in
 m

m
 -

 Ir
rt

üm
er

, D
ru

ck
fe

hl
er

 u
nd

 Ä
nd

er
un

ge
n 

vo
rb

eh
al

te
n 

/ a
ll 

m
ea

su
re

s 
in

 m
m

 -
 E

rr
or

s 
ex

ce
pt

ed
.  

  V
E

R
S

IO
N

   
   

 2
4.

 0
4.

 2
02

0

18

14,9


